Ofu

N

Klo
rhl
ol

oF

~
Klo
i
oo

4
o0
B0

H2PT(g/cm?)
207

oxET

Zoi7

3

U M=2S i

T AR (%)

HEP
MEETY 1.25kg 2 S0 5IH

tofl 2|5t

2017

AlEL27E

LT

oLEBZTO0

(EFHAZK/H R 27H)
OET

88.63
1.46 i
1.43
F =

AR SEOAM XPC

(Ol= NCFEOistd S0 532|0f ZAN HA|
207

c O 2720k / SO 2760
: AF2 EY XPC 1.25kg "7t 20

HGIO| Ar248(%)

oxEx

=

ol

Bx| SHIA}
@D st o2

Diamond V'
TEL(ZZ{Z| L)

A

<2017 4 9 & 7|&>

[e]
=

|

3

u]
[

10,587

o
=

|

419M/T

7862

: 100,000 X (465X 7€) X 2.74% X 120

o
=

|

e

: 100,000 X (465 X 7€) X 1309

7t

O{H|-& :419M/T X 1.25kg X 15,000
ol

o

. $=Ql/EX}H|&(ROI) = 10,587/786 = 13.4

- 20AR
* ALR R THE/T At

o —L
A
T

Of

102)586-7311



